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— Xl gtXl 5,000%5& 128 300
O=Z2Fd0l&E JIg&8A 283 7L 200,000%53] 1,000
206 M = dl 5,100 ,200 A2,100
01 X2 H| 5,100 ,200 A2,100
ORFID SAM3EE JIE ¢ 1,000%1,50004 1,500
ORFID AZHD FURATN BELX=H 5)
450%4,000& 1,800
OEANELEE A (EXHOZ EXFIM)
150,000%12& 1,800
405 XHA&HF S HI 59,000 ,000 13,000
02 EAFH| 59,000 ,000 20,000
OMN2AEAN 7 15,000%3,000& 45,000
OuUBHHAEN 2L 20,000% 100 2,000
OJl2Uss A 7Y 15,000%800& 12,000
SIUACAS nZE ) 2A 28,580 ,960 A 1,380
201 LBt 3,200 ,200 0
01 AP 22| H| 3,200 ,200 0
OnsZz )l 8 a0 (A) M
66,000%21 *103] 1,320




A E

Bu: YT B 2o 2o
&2 2ol SMMEIA W3 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OusZzly g2 84+94(8) MHE
110,000%2H x4 3| 880
OunszZzlYd 29 27 7¢ 500,000% 14 500
OHItHy 22 29 AZ28 ¢
500,000%14] 500
206 = Hl 4,200 4,200 0
01 M2 4l 4,200 4,200 0
OCusZz2d 29 M=l 300,000%43] 1,200
OdAEZZ0Y 29 M=l 300,000x6& 1,800
OdstZz ) d M=l 40,000%30= 1,200
301 LeEAF 21,180 20,560 620
12 J|EtE4 = 21,180 20,560 620
Osst) neTz ) 2ArY
90,000%52] x4 2+ £t 1,800
Ovisest neo=z g 2Ax4
90,000%53] x4+ &t 1,800
OXNss) usEZ20Y ZAY
90,000%53] x4+ &t 1,800
OHsest neoz2 N 2ArY
90,000%53] x4+ &t 1,800
OOCE0l Al T2 2AY
90,000%20==*22 £t 3,600
OEAMZ AT 208l ZAE
60,000%305= 22 &t 3,600
O0elol AZEN 2Y T2 ZAY
90,0004 3] x4 2 &t 1,440
OO0t AZEANH =0IH A=Y
90,000%43] 44 2 1,440
OAZERN IHBHE LA
90,000%23] 52 &t 900
OLXNE2E= & ME TA==E
300,000% 102l 3,000
YN SHEE A 26,972 26,832 140
201 et 20,322 20,182 140
01 At 22l 5,322 5,182 140
O#AMN EEE 2% (2) M 66,000%202] 1,320
OdMN EEE E2U(S) WX 110,000%93| 990
O#AMN EEE 224 (H) M 253,000%42] 1,012
OHIH 2 88 SAHNIIE WA
5,000%50H *63] 1,500
OO0glol Aatg Oe2ldl thal At
100,000%5H 500
03 A2 S HI 15,000 15,000 0
Oo=ctel sM==4 s 29 2,000,000%13] 2,000
OslY=2st=0lH &AL 29 400,000%82] 3,200




EX: EAZ2H
B sy NE 29 248
e elol SHAAHA HE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O=s2 TAZ Jle & 8A 89
2,000,000*13] 2,000
ONelol JI8add 24 600,000%33l 1,800
OZ2xdeel JI&8EA 29 2,000,000%23] 4,000
Ol aatgl Oe2lJ e 29
1,000,000%13] 1,000
OEMBF2, SAY & @A &9
500,000%23] 1,000
203 &R F & 200 200 0
03 AIZH =& 25 X H| 200 200 0
OSMHEAI =& RFAd| 200,000 200
301 et A= 6,450 6,450 0
09 SHAIAHI X &2 2,450 2,450 0
OEMEF2H SH2 & AL EIOHAF 24t
10,000%40H 400
OSHAX IR B4 50,000%12& 600
OQAEIDH OIHE EFHA B4
10,000%5H x12& 600
OReto SHBEY U3l FOR 24
400,000* 1Al 400
OAaAS O2ld 228 WA 24
450,000% 1A 450
12 J|EtE2 A= 4,000 4,000 0
OIS & =& &I LAY 500,000%43] 2,000
OEAE Jle & =& Z)F LAY
500,000%43] 2,000
SAEE 29 26,296 15,796 10,500
201 Bt 49d]| 22,496 12,496 10,000
03 A2 G H| 22,496 12,496 10,000
OEAEE 8 &9 (A) ME
66,000*3H *23] 396
OEAEE TA R (IR0}
10,000%2& *500H 10,000
OE2AEE MUY TAHAFRYU(ZEE) 10,000,000 10,000
O=EAEE E2 2! 600, 000* 1A 600
O=AEE He Y #8#A &9 1,500,000%13] 1,500
301 LEtE A= 3,800 3,300 500
12 JIEtE2 A= 3,800 3,300 500
OBAEIE Mz=0| nsIEZ2)8 AAIE
60,000%103] *3& =+ 1,800
OSAEE 2210 A 500,000*43] 2,000
SIS FHAAHES IA 4,800 27,800 A 23,000
206 M = dl 2,400 2,400 0




A EA22G 0
M Y 2 2435
B2l 020l SMAHA JS (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
01 M= 4l 2,400 2,400 0
OOItE HAANS =M Z208 2F W2
=l 50,000%43 x12& 2,400
301 etE2H = 2,400 15,600 A 13,200
12 JIE2 a3 2,400 15,600 A13,200
OROIIIE FHANS SAH TR0 A2
60,000%20== 22 &t 2,400
2L A 2Y 243t 203,495 232,999 A 29,504
= 13,620
Al 189,875
ELdEM2 23 22l 104,456 118,060 A 13,604
=2 13,620
Al 90,836
SLEAH2 2F 27,627 28,587 A 960
201 LEr2A | 21,627 22,587 A 960
01 At 228l 20,862 21,822 A 960
Ozt&a 8 HEES 728 55,000«3=2tA+128 1,980
Ostaa 2 X ¢ 42,000%58F A %128 2,520
Ost&a gen 2¢ 12,000%80H A& =123 1,152
Ost&a N3+ 7 45,000%80H 2 =48 1,440
oMY IIsE(50L) 7 1,300%100& <123 1,560
O&F=)| degz 35,000%4CH =123 1,680
O3JI8E) dEZ 35,000+7CH~12& 2,940
ol ez 20,000+6CH <12 1,440
Ogles ATt A &l 100,000%62l 600
OoolExt Az SAEX 7 25,000%408f A 1,000
OEAM2 RUYsR 15,000 12 180
O&=E M2 sl &It 90,000%3H 270
OEM2EA =& Sl 8,000«5F«5 128 2,400
Ousg Zil+ ¢ 100,000%53] 500
OXza 38 2 1,000,000+ 14! 1,000
OxF&g ¥ 100, 000*2H 200
02 =224l 765 765 0
OS2 M2E 23 3HI(B=)
300,000*13] 300
OSB3 M2Eos HLXL 3dl(B=)
100,000* 12| 100
Ost== M283 SM3alb(32) 115,000%13 115
OSt=E M2E3 2Fd2X2E S 3l (6=
) 80,000%13] 80
OAagotdzte| X+ & 2l 60,000 12l 60
OTH LY & 2 ) 2 & 60,000* 13| 60
Ofigs etdael galtl 50,000%12] 50




FAN: EN22E 0
B 2YC AT 2Y BHY
ool A2 28 22 (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
202 o4 4 6,000 6,000 0
01 SLHOYI 6,000 6,000 0
O=sMIE g4 6,000,000 6,000
BEZM2 AES 22 42,128 51,738 29,610
201 fEt2E | 16,370 15,040 1,330
01 AtR 2t 2l | 1,870 1,720 150
O8Zz A2 A7 Y 1,400
— 33430 120,000 1074 1,200
— 22 A3 20,000+ 10K 200
Ofges ¢dael Jsustl 70,0001 70
OH=71 & AIJI 7 150,000 14! 150
Oz ¢td&e|Xt Jis LS| 50,0001 50
OAgOABRAT HEDS 248
200,000%1& 200
02 S3=29Hl 14,500 13,320 1,180
Ostda AMLH 2 20,000%600 A+ 122 1,440
Oarl =4t 100,000x12& 1,200
Osdll K= 1,000,000+ 14 1,000
O&Jl & &4 =ANE+ 1,000,000 14 1,000
Os&ll BII8E =8 200,000 12 200
OZAIA EIBA =2 60,000+ 12l 60
OCCTV =X E= 1,000,000 14 1,000
O=M2Z as 89 600,000%12& 7,200
O=ZA& 3" S M=HE 200,000%22 400
OxZ =32 1,000,000+ 14 1,000
206 M= 8l 2,480 2,480 0
01 M=l 2,480 2,480 0
OAlE= 3HIE 223 F¢ 200,000+10& 2,000
O=EM2 E2E83 7 40,000+ 128 480
401 AIEHI YL 2CHYI 21,778 34,218 A12,440
01 Al&H] 21,778 34,218 A12,440
OAMa A= FAlHI 4,000%1,309m" x50% 2,618
OFFE oozt 2U2l 43 NA
120,000+289H 3,360
OXzgd 24 € =X & &M SM
3,000,000+ 14 3,000
OZAM2t 29 HAM(HE AOIE) M SAt
8,000,000% 14 8,000
Ogxch g2 et X (2 ARd)
2,000,000+ 14 2,000
OROIAZA AMSUHE £X 2,800,000+ 14 2,800
405 At&tF S HI 1,500 0 1,500
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EX: EAZ2H
HH: SUYCHY 29 BHH
S Al SHE3 MBlA HB (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— =2 15,000%12& ~12& 2,160
— Xl gt Xl 5,000%6& «12& 360
206 M Hl 4,250 4,250 0
01 =4l 4,250 4,250 0
OFRFID SA3IEs It ¢ 1,000%2, 0004 2,000
ORFID B 2 ¢ 450%5,000& 2,250
405 XH&HF S HI 43,200 47,500 A4 300
01 XAt = EF S HI 3,200 7,000 A 3,800
OSSN sa AMIF 2¢ 800, 000*4CH 3,200
02 = A 72| 40,000 40,500 A 500
Od2t E 372 15,000%2,500& 37,500
OEHMds TAHENH) 7Y 25,000%100& 2,500
LA DT )M 2H 21,650 23,150 A 1,500
201 gBt24y| 3,480 2,980 500
01 AP 22| H| 3,480 2,980 500
OnsZz )y 82 a4 (A) ME
66,000%24! x53] 660
OnsZz )y 82 d43(x5) ME
110,000% 124! 1,320
OunsZzd 29 23 72 50,000%202 = 1,000
OHItiH 2% 29 =z )8 P2
500, 000* 1A 500
206 M = dl 2,900 2,900 0
01 X2 Hl 2,900 2,900 0
OHE Doz )d 29 M=l
100,000+10& 1,000
O200 dEs 2208 29 M=4l
100,000+10& 1,000
Odst Tz )d 29 M=H| 100,000%9& 900
301 et M= 15,270 15,270 0
12 JIEtE2 &= 15,270 15,270 0]
O Tz 2AAIREE 90,000%53] *32+ & 1,350
OE T2 2AISE 90,000%53| *32+ & 1,350
OJtg T2 AALE 90,000%53| *x32+ & 1,350
OAHE T2 )2 2AISE 90,000%53| *32+ & 1,350
OdAs T e 2AAILE 90,000%4 3| x9& 3,240
OH4Qel FOol2x ZAIEE 90,000x7& 630
O3 dES Tz )d Z2A=E
150,000%103 x4 2+ & 6,000
SUTAHE SAHIES A 20,659 30,759 A 10,100
201 LBt Y| 10,519 15,519 A5,000




2N

 —
=
X ZH: =2
ocHms S

SRl AR SA S8 Al

SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
01 At 22l bl 3,119 3,119 0
OSHNEE A 842 (A) HE 66,000%104] 660
OSHAS #A #20(F) A=
110,000% 104! 1,100
OSAMHEIE Al S22 () ME 253,000%34 759
OdgAN 29 28 #7¢ 200,000%34! 600
03 S AI2 H H| 7,400 12,400 5,000
Ogst oI2& HIT SHAL Y 1,000,000%23] 2,000
OJIEx3 JgE2AH 29 600,000%43] 2,400
OEN&F2, SNX9 & Al 2
500,000%23] 1,000
O2 IJIE = Z2NME &AF 2% 1,000,000%23] 2,000
203 AP Z= Y| 200 200 0
03 Al F=X SR =AH| 200 200 0
OSHMEAZE S#HAF =& FRFXHl 200,000 14 200
301 LEtE M= 9,940 15,040 A5,100
09 #HAIAHI X & 2 1,940 2,040 A 100
O=SHEE A NI KNISAX B4
10,000%50H 500
OEMZF2t, SAH2 £ @A E2OLAH B4
10,000%20H 200
O=SAHAX WA B4 50,000%12€& 600
OO0l €9 =& 2 24 20,000x12& 240
Oz = JIs &I B4 50,0004 3] 200
OX& S AR 2HES] 200,000*13] 200
12 JIEtE2 &= 8,000 13,000 A5,000
OIERG H=EE2L MY 500,000%63] 3,000
O2Hu= M2 MAUEZ 1,000,000%53] 5,000
2EHB 29 243 1,024,676 0 1,024,676
=232 22Y 22| 1,024,676 0 1,024,676
2ETAB W = 1,024,676 0 1,024,676
201 Bt A H| 43,189 0 43,189
01 At 22l ] 38,100 0 38,100
OEMZZIZZ2 O3 (LmA) 11,000,000 11,000
OIS MHHIA 1,100,000 1,100
OZHIL A AE (21221 0}) 5,500,000 5,500
OAPAC(SI21DtQl 2 T AHAM m2 7))
3,300,000 3,300
OZglEN=aAAE 4.,000,000%* 14! 4,000
Ost2, QIA 2HOIEA(REE S)
660,000*20CH 13,200
02 3s2gH| 5,089 0 5,089




A EA22G 0
Ha: ISCHE 2Y 2835
29 3 SN2 29 22 (Sl & &)
SN FH-SA(EN) - MBAY - BES 0l &k o4 il HlnE2
OzZANzcled S I MEZ 495,000+7& 3,465
Os4l &3t 132,000+7& 924
OEAM2teled QES 38 AFZ2  50,000+7& 350
O0IEXE eI 3ld AEZ 50,000+7& 350
401 AIEBI L 20HEI 170,000 0 170,000
01 A& Hl 170,000 0 170,000
OQHI 2l SAt 150,000, 000+ 14! 150,000
OAtel =S M= 20,000,000% 14 20,000
405 THabF S| 811,487 0 811,487
01 It ESH SHI 621,487 0 621,487
Od&AIAE 2= 21,527
— 2ty 10,527,000+ 14! 10,527
— AT E L2 ARIX 1,200, 000*2CH 2,400
—0IEXYE L2 AKX 1,200, 000*2CH 2,400
— R4 AP 1,100, 000*4CH 4,400
— S4& POE 1,800,000+ 1CH 1,800
OAM& NSSHAIAY” 2= 183,800
— O = BHE DI 25,000, 000*2CH 50,000
— 2018t D] 50,000, 000+ 1CH 50,000
— ST OHEIL 18,000,000+ 1CH 18,000
—3|¥E Zed 2,000, 000*2CH 4,000
—ANE QA3 E2HDI 2,600,000*3CH 7,800
— S ES Tt EHE D] 26,000,000*1CH 26,000
— S ES TR CHEILE 5,000,000*2CH 10,000
—-LES(0oE) 1,500,000+ 12CH 18,000
Oolzd, W=sd 2E=E 74 75,860
— MAFT| 5,000,000+ 1CH 5,000
—PC(EME . 0ATE) 1,000,000+ 10CH 10,000
—SUH(FMEE . 0A3E) 250,000=10CH 2,500
—H2E ZgH 2,000,000+ 1CH 2,000
— ZEENSAAHE =S| 2,880,000+ 1CH 2,880
— 24 HI2ZE AJMU 650, 000*2CH 1,300
— & 150, 000*2CH 300
— 2=l 500, 000*2CH 1,000
—DID 6,000, 000*2CH 12,000
—Al(2IBXs) &M =& 31243
11,000,000+ 1CH 11,000
—YIOZ=ZAE 2,000, 000*2CH 4,000
—dsA3dE 1,000, 000*2CH 2,000
—SE= () 610,000+50CH 3,050
—SEg(2) 363,000+ 10CH 3,630
—2ME PC(Z2OYE) 1,500, 000*2CH 3,000




A EA22G 0
HH: I5CH 29 B
Cel: 3STA2 29 2l )
SN BA(SA) - MRAY - BES il HImEET
—2cte 29 9% ZOI(25,0(013 5)
1,000, 000+ 1CH 1,000
— 20t 2 HEE 'PC  500,000%2CH 1,000
—=2cte A HEE 1,500,000+ 1CH 1,500
— E-book 2IH | 400,000*5CH 2,000
— &M AN S I (AED) 2,500,000+ 1CH 2,500
— &0 1,000, 000*2CH 2,000
—HAJE 300,000+2CH 600
— A4S AHII 800,000*2CH 1,600
OAMEH 2H=8 ¥ 7,900
— NI &I 800,000*1CH 800
— 28| 100,000+ 1CH 100
—HED 1,000, 000+ 1 CH 1,000
— Z A=A 4,000,000*1CH 4,000
- TV 2,000,000+ 1CH 2,000
OCURXCIIRA(RHZA M S) HME 2 240,000
— MIHEH CIRel I BAIE MO S)
3,000,000*10CH 30,000
— IEIE A Ot 500,000+ 10CH 5,000
—2ola MOt 2,000,000%20CH 40,000
— ool GRSl o &t 300,000%504 15,000
— Bt A At 2,000,000%20CH 40,000
— X% e SEHO= 1,000, 000%5H 5,000
—HOIZ(HE AM0IE S) 20,000,000* 14! 20,000
-8 & AKX 200,000%504 10,000
— QIR ATH(1Q1,201,321 &)
25,000,000* 14! 25,000
— J8 X NIt 2,000,000+ 10CH 20,000
— 2= NIt 3,000, 000*6CH 18,000
—SsAdNE At 2,000, 000*6CH 12,000
OQUEA, MR8 It7 S Y (XY) 50,000
— =4 HOIZ, 24 300,000%504d 204 A 30,000
— A28 I3 10,000, 000 14! 10,000
— SItH A0, Xt 10,000, 000 14! 10,000
o=sdxtg 8 #¢ 42,400
—LP 50,000+200& 10,000
—CD 25,000+4005 10,000
—QUS(AHA) 50,000+300& 15,000
—LP EHIOIE 300,000+3CH 900
—CD EdIolA 100, 000*5CH 500
—dEZ 200,000+ 1574 3,000
— & X O ote 3,000,000+ 1CH 3,000
02 = A=l 190,000 190,000
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